10

1. SHFDEAREHE L ST
2. SERRERARIFTE R0

+

SHAEED TEBER

=
N

]




b hEDRE

74

AN A = EZE N =n i {l_j\%[lﬁ:ﬂzrg AN o AN o PN e
wENR | & | Tmsosm | T | emsE | amEE || eR4sE
IR 336 380 339 330 321
= enew
FOEREE ) 4,577,750 | 7,307,731 | 5,639,063 | 5,065,060 | 4,708,503
| 3 05m | BRERR 198 208 191 204 208
= *z‘jﬁifff 4447431 | 7,153,794 | 5,500,779 | 4,951,993 || 4,609,501
| 3 05m | BRERR 138 172 148 126 113
MF | BERE®E | 930319 | 153937 | 138284 | 113,067 99,002

(B2 )




SERCEREDS 0 0 AU E

1= 77.40

TES9% (500U L)

40

21 50

30

o
N

10 ¢




Bz 5 0 0 AR

813 0/A5H

&

TEmamR (1305 #5007 FKiH)

A

B80S0 |

4
Q
Lo
N~
4
._.-W
-




